2007 Autumn semester Pattern Information Processing
Topic 2. Image compression by orthogonal transformation

Session 7. (3) Discrete Fourier transformation and discrete cosine
transfor mation

The framework of orthogonal and unitary transformations operating separately on rows and columns of an
image matrix was explained in the previous session. An example of the orthogonal and unitary transformations
aswell asimage compression by the transformations are presented today, in the final session of this topic.

Two-dimensional discrete Fourier transfor mation

In Session 2 of this course, Fourier transformation of atwo-dimensional function was defined as

F(vx, vy) = f f N f(X,y) exp{—i2r(vxX + vyy}dxdy. @

Since this equation can be rewritten to the following:

F (VX’ Vy)

f j: ) f(X, y) exp(=i2rvxX) exp(—i2rvyy)dxdy

I " [ I N (X, y) exp(=i2rvxx)dx| exp(—i2rvyy)dy, 2

it corresponds to two one-dimensional Fourier transformations along the x-direction and y-direction, respec-
tively. In Session 3 of this course, it was explained that one-dimensional discrete Fourier transformation of
u(n), an N-term sequence, was defined as follows:

N-1
U(K) = Z u(n) exp(—i27r§n) (k=0,1,...,N-1). )
n=0

It follows from the above equation that the two-dimensional discrete Fourier transformation of u(m, n), which
isan array containing M terms of variable mand N terms of variable n, is defined as follows:

N-1
Ukl)=>"
n=0

(k=0,1,...,M-11=0,1,...,N=1). Incase M = N, Eq. (4) isrewrittento

M-1 K
Z u(m, n) exp(—i27rmm)

m=0

exp(-i2r 1) @

N-1[N-1
Uk )= > {Z u(m, n) exp(—iZﬂ%m) exp(—iznan) kl1=01...,N-1), (5)

n=0 Lm=0

i. e. Fourier transformation of asguare digital image.

It was explained in the previous session that aseparabl e unitary transformation of amatrix X can be expressed
using a unitary matrix R as follows:
Z =RXR (6)

Now we express the transformation of Eq. (5) in the form of Eg. (6). Comparing the rows and columnsin Eq.
(6) and the variablesin Eq. (5), we get

Lz =Tt =" (R ™ (x = Um ) - ™ (R). @
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Comparing the summation in Eq. (5) and the matrix operation in Eq. (7), we get

k—

" g i2r R0 ei2rg0 .. grizelFo
R = e—iz;r%m grizrgm
e—i27r%(N—1) e—izn%(N—l)
and n—
gi2rg0 g-i2rgn gi2rg(N-1)
1l
R = e—iz:n'mo gizryn (8)
e—izy;%o ei2r Nt (N-1)
Since these matrices are symmetric, setting
i2r
Wy = eXp(—W) ©)
and 0 "(N-1)
R=| W win , (10)
N-1)0 N-1)(N-1
Wr(\l ) Wl(\l J(N-1)
we get
Z =RXR. (12)

Now we consider the product of the matrix R and the matrix R*(= R*). Calculating the inner product of the nth
column and the complex conjugate of the n’th column, we get

N-1

W) =

1=0

Thissumis,incasen # n',

7
I

Vv(n—n’)l

I
o
P4
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i2nl i2nln’
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Z exp(—i{(n - n’)27r}l)

() (12)
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Fig. 1. Correspondance of elementsin the discrete Fourier transformation to frequency components.

andincasen=n/,
N-1 Al N-1
>wimt=Y 1=N, (14)
=0 =0

It follows that RR* = NI, i. e. Risnot a unitary matrix. Since RR™ is the unit matrix multiplied by N,
redefining Wy as
1 i2n
Wy = — -— 15
v =~ e (15)

makes R unitary. In this case, the inverse transformation is as follows:
X =RZR. (16)

The discrete Fourier transformation defined as the above is called unitary discrete Fourier transformation.

As shown in the previous topic, sampling the original function causes in the frequency domain a repetition
of the frequency distribution of the original function. The discrete Fourier transformation is equivalent to the
extraction of the first period of the original frequency distribution from the origin and sampling N points. Thus
in the case of the one-dimensional discrete Fourier transformation U(0) corresponds to the component at the
frequency zero of the original frequency distribution, U(1), U(2), ..., U(N/2-1) correspond to the components
at positive frequencies, and U(N — 1), U(N - 2), ..., U(N/2) correspond to the portions at negative frequencies
in the reverse order, as shown in Fig. 1. It aso holds that the amplitude of Fourier transform of area function
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Fig. 2. Correspondance of elements in the twodimensional discrete Fourier transformation to frequency com-
ponents.

is an even function and the phase is odd. These correspond to the fact that
U*(N -Kk) = U(K) 17)

holds for the one-dimensional Fourier transformation of a real sequence defined in Eq. (3), as explained in
Session 3.

Since this holds for both the row operations and the column operations in the two-dimensional case, the
elements of the two-dimensional Fourier transform correspond to the frequency components as shown in Fig.
2(a). Theinterchanges of domains as shown in Fig. 2(b) are convienient for intuitive comprehension.

Since

Uk ) =U*(M =Kk N-=I) (18)

holdsfor two-dimensional discrete Fourier transformation of areal matrix similarly to Eq. (17), determining the
valuesin a haf of the domain determines automatically the other half, also in the case of the two-dimensional
discrete Fourier transformation.

Discrete cosine transfor mation and image compression

Generally speaking, low-frequency components of an image correspond to brief outlines of image objects,
and high-frequency components correspond to fine structures. Thus high-frequency components are usually
small and omitting the components causes little loss of image information. This suggests that omitting high-
frequency components achieves image compression, as shown at the section of the KL transformation in the
Session 4.

The Fourier transformation, however, requires to handle complex numbers. This makes the cal culations com-
plicated. Instead of this, discrete cosine transformation (DCT), is often used for practical image compression
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schemes. The matrix Ris defined as

n—

R = r(n,l) ,
L 1=0
r(nl) = VN 19
(n,1) {%Cos(znzﬁ)ln 10 (19

instead of Eg. (10) in case of DCT. The matrix R is real in this case. DCT of an image is equivalent to
the discrete Fourier transformation of the two-dimensional even function composed by the original image and
the reflections with respect to x-axis, y-axis, and the origin *. Let us consider the one-dimensional case; Let
the original onedimensiona signal of N elements be u(0), u(l),...,u(N — 1). Connecting this signal with its
reflection, we get the sequence of 2N dements, u(N — 1), u(N — 2),...,u(1), u(0), u(0), u(d),...,u(N - 1). It
follows from Eq. (19) that DCT of a one-dimensional function of N elementsis

U(k):{ i Znco U k=0 (20)

2 u(n) cos LR @l 20

In casethat k # 0, we get

7
X

U(k) = % u(n)cos%

n=0
N-1

_ % u(n)expl(2n+1)kﬂ 1 Z“(”) I(2n+1)kn
n=0
N-1

_ % u(n) exp —i((- n)2 1/2)k7r 1 Zu(n) |(n+1/2)kyr (21)
n=0

This operation is equivalent to the discrete Fourier transformation of the sequence

u(N — 1),u(N = 2),...,u(1),u(0),u(0),u(d),...,u(N — 1) by supposing an element between two u(0)’'s and
renumbering the indices of the eements u(1), u(2), ... following u(0) to 1/2,3/2,..., and the indices of the
elements preceding u(0) to ...,—-3/2,-1/2. Since this is the Fourier transformation of the sequence of 2N
elements, U(0) corresponds to the zero frequency, and the larger k is, the higher frequency component U (k)
correspondsto. Since DCT yieldsareal N x N matrix fromarea N x N matrix, and larger k correspondsto a
higher frequency, it requires no reflection of the transform as in the case of the discrete Fourier transformation.
Thus the image compression by omitting high-frequency components is achieved by preserving U(k, I) for
smaller k and | and omtting the others. The image compression by the JPEG standard, which is popularly used
for practical image compression, is achieved by segmenting an image to domains of 8 x 8-pixels, transforming
each domains by DCT, and omitting higher frequency components of each domain.

1The Fourier transform of an even function is areal function (this operation is refered as the Fourer cosine transformation).
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